

AMATEUR BOWLERS TOUR

PO BOX 72608 - ROSELLE, IL 60172 - (630) 295-8551 www.abtchicagoland.com

THANKSGIVING SPECIAL							
LAKESIDE LANES					NOVEMBEI	R 23 - 25, 2012	
CLASSIC F	PRIZ	E FUND)		TOURNAMENT FINANCIAL	REPORT	
136 Classic Entries	@	\$38.00	=	\$5,168.00	Classic Prize Fund	\$7,543.00	
9 On Site Entries	@	\$5.00	=	\$45.00	Masters Prize Fund	\$5,169.00	
Bonanza Progressive				\$1,630.00	Optional Sweepers Paid	\$2,467.00	
Bonus Bucks				\$700.00	Brackets Paid	\$3,267.50	
					Optional Side Pots Paid	\$765.00	
Added By ABT				\$0.00	Hdcp 315/Scratch 300 Pots Paid	\$177.00	
Total Prize Fund				\$7,543.00	Clean Pot Paid	\$0.00	
MASTERS	PRIZ	ZE FUN	D		Promotions	\$380.00	
93 Masters Entries	@	\$48.00	=	\$4,464.00	"Bye" Bonus	\$0.00	
14 On Site Entries	@	\$5.00	=	\$70.00	Practice Squad Entries	\$0.00	
Bonanza Progressive				\$195.00	Champions Shirts	\$150.00	
Bonus Bucks				\$440.00			
Added By ABT				\$0.00			
Total Prize Fund				\$5,169.00	Total Paid Out This Event	\$19,918.50	









CLASSIC CHAMPION

Terry Crafton

Age 46 Titles

Terry is an assistant branch manager for Old Second Bank. He is married to Kris and they have two children. Terry has been bowling for 20+ years and bowls league at Parkside Lanes and St Charles Bowl. He has a high game of 300 and a high series of 767 to his credit. Terry was throwing a Columbia Pursuit drilled by John Bradford at Bradford Bowling. In addition to bowling Terry enjoys baseball. He wanted to thank Frank Marack Jr for getting him over the hump in July for his first win and for his support, the ABT staff, Lakeside Lanes for hosting, and all of his supports that stayed to cheer him on. Terry plans to give his winnings to Kris! He concluded by thanking John Bradford and Mike Soper for equipment choices for his titles.

MASTERS CHAMPION

Jeff Dimmitt

Age 43 Titles

Jeff is a maintenance mechanic for Catholic Cemeteries. He has been bowling 20 years, 4 as a lefty and he bowls league at BZ Romeoville. Jeff has a high game of 300 and a high series of 784. He was throwing a Jet Turbulance and a Jet Altitude drilled by Gregg Zicha at Fox Spot Pro Shop inside Fox Bowl. In addition to bowling Jeff enjoys golf. He wanted to thank Jet Bowling, Jim Peach, Gregg Zicha, the ABT Staff, and Lakeside Lanes for hosting. Jeff plans to use his winnings to bowl USBC Nationals and bowl more ABT's.

TOURNAMENT NOTES

Thanks to this weekend's volunteers: Steve & Rose Morrissey, Linda Scaletta, Mike Martenson Sr, Frank Marack Jr, Terry Crafton, Scott Pollack, Gordon Brown, Mike Zanazaro, and Vince Mayweather.

Congratulations to our raffle winners: Agnes Teodoro and Susan Schlink who won free entries into upcoming events; Dave Gallwitz who won the "Pick Your Ball" raffle and selected a Storm Fire Road; and Steve Terlecki who won a bowling lesson from Bill Spigner.

TOTAL	PAID OUT BY	CHICAGOLAND B	RANCH
IUIAL		CHICAGOLAND D	
2012	\$585,987.65	Since November 1991	\$19,244,354.70

		CL	ASSI	CFINALS			
PLACE	FINALIST	GMS	SCORE	BASE PRIZE	BONANZA	BONUS BUCKS	TOTAL PRIZE
1	Terry Crafton	4	1005	\$1,200.00	\$1,310.00		\$2,510.00
2	Earmon Taylor	4	837	\$600.00	\$320.00		\$920.00
T3	Frank Marack Jr	3	630	\$300.00			\$300.00
T3	Mike Kilgore	1	226	\$300.00		\$350.00	\$650.00
T5	Steven Thompson	2	457	\$200.00			\$200.00
T5	Tom Variola	2	443	\$200.00			\$200.00
T5	Susan Schlink	1	238	\$200.00		\$175.00	\$375.00
T8	Coleman Evans	1	244	\$125.00			\$125.00
T8	Laurie Patton	1	205	\$125.00		\$75.00	\$200.00
T8	Brian Falada	1	198	\$125.00		\$105.00	•
T8	David Gallwitz	1	185	\$125.00			\$125.00
T8	Harvey Lee		DNS	\$125.00			\$125.00

FINALS RESULTS

Round 1: Variola def. Lee by forfeit; Thompson def. Gallwitz 255-185; Marack def. Evans 247-244; Crafton def. Patton 261-205; Taylor def. Falada 217-198. Round 2: Crafton def. Schlink 264-238; Marack def. Thompson 208-202; Taylor def. Variola 230-213. Round 3: Crafton def. Kilgore 247-226; Taylor def. Marack 199-175. Championship: Crafton def. Taylor 233-191.

		M A	STER	S FINALS			
PLACE	FINALIST	GMS	SCORE	BASE PRIZE	BONANZA	BONUS BUCKS	TOTAL PRIZE
1	Jeff Dimmitt	3	737	\$1,200.00			\$1,200.00
2	Matt Barker	2	484	\$600.00		\$220.00	\$820.00
T3	Rick Hara	3	722	\$300.00		\$44.00	\$344.00
T3	Jeff Colaianni	3	624	\$300.00		\$66.00	\$366.00
T5	Mike Diaz	2	451	\$200.00			\$200.00
T5	Jim Peach	2	438	\$200.00			\$200.00
T5	Brad Gregory	2	430	\$200.00			\$200.00
T8	Tony Godek Jr	1	222	\$125.00			\$125.00
T8	Dave Palojarvi Jr	1	217	\$125.00			\$125.00
T8	Steve Greenspan	1	198	\$125.00	•		\$125.00
T8	John Sypniewski	1	193	\$125.00	•	\$110.00	\$235.00
T8	Jerry Marrs	1	148	\$125.00	•		\$125.00

FINALS RESULTS

Round 1: Hara def. Greenspan 246-198; Peach def. Sypniewski 231-193; Diaz def. Palojarvi 251-217; Colaianni def. Marrs 203-148; Gregory def. Godek 226-222. Round 2: Dimmitt def. Diaz 235-200; Hara def. Peach 257-207; Colaianni def. Gregory 221-204. Round 3: Dimmitt def. Colaianni 234-200; Barker def. Hara 225-219. Championship: Dimmitt def. Barker 268-259.

Classic 774 Jennie Marack \$60.00 289 Laurie Patton Masters 781 Tony Godek Jr \$70.00 298 Mike Diaz C U T S C O R E S Classic Friday +66 Saturday +94 Sunday +76 Gold Ticket Leroy Masters Friday +113 Saturday +99 Sunday +86 Gold Ticket Bobb	\$60.00 \$70.00 Walker Jr by Wright						
Masters781Tony Godek Jr\$70.00298Mike DiazC U T S C O R E SClassicFriday+66Saturday+94Sunday+76Gold TicketLeroyMastersFriday+113Saturday+99Sunday+86Gold TicketBobb	\$70.00 Walker Jr						
CUT SCORES Classic Friday +66 Saturday +94 Sunday +76 Gold Ticket Leroy Masters Friday +113 Saturday +99 Sunday +86 Gold Ticket Bobb	Walker Jr						
ClassicFriday+66Saturday+94Sunday+76Gold TicketLeroyMastersFriday+113Saturday+99Sunday+86Gold TicketBobb							
Masters Friday +113 Saturday +99 Sunday +86 Gold Ticket Bobb							
	y Wright						
HANDICAP 315 POT							
This Event No winners							
Next Event Total \$1,610 Avail \$805 300 \$322 305 \$483 310 \$644 315	\$805						
SCRATCH 300 POT							
This Event Steve Greenspan (268) \$59; Russ DeCaluwe (268) \$59; Tony Godek Jr (277) \$59							
Next Event Total \$818 Avail \$414 268 \$166 279 \$248 290 \$331 300	\$414						
CLEAN POT							
This Event No winners							
Next Event Total Pot	X X \$4,489						

				LASS	I C	SEMIF	INA	L	RES	ULTS			
PLACE	SCORE	SEMIFII				PRIZE			SEMIFI		BRANCH	HDCP	PRIZE
1	+128		Kilgore	CHI	31+7	*****	T16	+44		e Marack	CHI	32+3	\$90.50
2	+109		n Schlink	CHI	25+3	*****	T16	+44		y Castrogiovann		39+13	\$90.50
3	+108		l Gallwitz	CHI	36+4	*****	18	+42	Eric T		CHI	43+9	\$89.00
4	+96		Falada	CHI	31	*****	19	+41		nce Leonard	CHI	30+1	\$88.00
5	+93		e Patton	CHI	27+7	*****	20	+37		ny Brown	CHI	51+3	\$87.00
6	+86		n Thompson	CHI	27+8	*****	21	+33		Palojarvi Sr	CHI	30+2	\$86.00
7	+86		Crafton	CHI	27	*****	22	+32		Walker Jr	CHI	37+1	\$85.00
8	+86		on Taylor	CHI	37+2	*****	23	+24		Castrogiovanni	CHI	39+7	\$84.00
9	+84		Variola	CHI	27	*****	23 24	+22		Nekola	CHI	49+7	\$83.00
10	+0 4 +75		Marack Jr	CHI	33+2	*****	2 4 25	+22		r Mayweather	CHI	36	\$83.00 \$82.00
		_		CHI		*****					CHI		
11	+74		nan Evans	CHI	35+1	*****	26 T27	+12	Riff G	e Kullman	CHI	32+4	\$81.00
12	+69		ey Lee	CHI	31+6		T27	-4	_	-	CHI	38+2	\$80.00
13	+67		e Laszczak		34+3	\$96.00	T27	-4		nos Kouvelas		25	\$80.00
14	+52		Sokolowski	CHI	25+2	\$84.00	29	-12	Ed Br	own	CHI	40	\$80.00
15	+51	Stepr	anie Halmini	ak CHI	29+2	\$92.00							
			M	IASTE	DC	SEMII	ETNI /	۸ ۱	DEC	ULTS			
DLAGE	66655	CENTET									DD ANG!!	LIDCD	PDIZE
PLACE		SEMIFI		BRANCH		PRIZE *****			SEMIFI		BRANCH		PRIZE *****
1	+128		Barker	CHI	21+2		11	+47	Jim P		CHI	17	
2	+112		immitt	CHI	19+5	*****	12	+32		Palojarvi Jr	CHI	17	*****
3	+102		Sypniewski	CHI	22+1	*****	13	+31		y Wright	CHI	21	\$100.00
4	+99		Marrs	CHI	4+1	*****	14	+30		larast	CHI	23+1	\$98.00
5	+84		Colaianni	CHI	9+1	*****	15	+24	-	Berkhous	CHI	3	\$96.00
6	+71	Rick I		CHI	7+1	*****	16	+7		s Reed	CHI	24+8	\$95.00
7	+63		Godek Jr	CHI	20+1	*****	17	+3		DeCaluwe	CHI	6+1	\$95.00
8	+63		Gregor	TCB	17+1	*****	18	+1		Goldman	CHI	23+6	\$95.00
9	+61		Greenspan	CHI	11	*****	19	-26		Payne	CHI	18	\$95.00
10	+51	Mike	Diaz	CHI	15+4	*****	20	-45	Brian	Leonhardt	CHI	18	\$95.00
				F	RI	DAY S	WEE	PE	RS				
						HANDICAP	"BEST	2 "					
				36 Entrie		@	\$	512.00) =	\$432.00			
				ded By ABT		goland				\$0.00			
			_	tal Prize F	und					\$432.00			
PLAC	E S	CORE	BOWLER			PRIZE	PLAC	E S	CORE	BOWLER			PRIZE
1		526	Coleman Eva	-		\$182.00	5		481	Bob Switzer			\$27.00
2		502	Dave Paloja			\$91.00	6		479	John Sypniews			\$26.00
3		491	Phil Castrog			\$53.00	7		478	Nancy Castrog	iovanni		\$25.00
4		482	Bobby Wrigh	nt		\$28.00							
						SCRA	тсн						
				9 Entrie	es	@		512.00) =	\$108.00			
			Add	ded By ABT						\$0.00			
				tal Prize F		_				\$108.00			
PLAC	E S	CORE	BOWLER			PRIZE	PLAC	E S	CORE	BOWLER			PRIZE
1		726	Ryan Berkho	ous		\$72.00	2		618	Russ DeCaluwe	2		\$36.00
						SENI	OPS						
-				17 Entrie	20	@ 		512.00) =	\$204.00			
			Δda	ded By ABT			7	,12.00	, –	\$7.00 \$7.00			
			To	tal Prize F	und	- J				\$211.00			
PLAC	E S	CORE	BOWLER			PRIZE	PLAC	E S	CORE				PRIZE
1		716	Dave Paloja	rvi Sr		\$114.00	T3		673	Bobby Wright			\$20.00
2		715	John Sypnie			\$57.00	T3		673	Bobby Wright			\$20.00
			,,			,				, 5			

SATURDAY SWEEPERS	
30 Entries @ \$12.00 = \$360.00 Added By ABT Chicagoland \$0.00 Total Prize Fund \$360.00 PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER T1 518 Brian Falada \$117.00 4 504 Matt Barker	
Added By ABT Chicagoland \$0.00 Total Prize Fund \$360.00 PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER T1 518 Brian Falada \$117.00 4 504 Matt Barker	
Total Prize Fund \$360.00 PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER T1 518 Brian Falada \$117.00 4 504 Matt Barker	
T1 518 Brian Falada \$117.00 4 504 Matt Barker	
	PRIZE
T1 519 Tony Kackaddon ¢117.00 5 500 David Gallwitz	\$27.00
	\$26.00
3 509 Tony Sokolowski \$48.00 6 498 Jonathan Tompary	\$25.00
SCRATCH	
9 Entries @ \$12.00 = \$108.00	
Added By ABT Chicagoland \$0.00 Total Prize Fund \$108.00	
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER	PRIZE
1 696 Russ DeCaluwe \$72.00 2 657 Tony Kaskadden	\$36.00
SENIORS	
25 Entries @ \$12.00 = \$300.00	
Added By ABT Chicagoland \$0.00	
Total Prize Fund \$300.00	
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER	PRIZE
1 716 Tony Sokolowski \$138.00 4 696 Tony Kaskadden	\$26.00
2 710 David Gallwitz \$69.00 5 677 Maurice Schmidt	\$25.00
3 699 Gary Payne \$42.00	
SUNDAY SWEEPERS	
## HANDICAP "BEST 2" 51 Entries @ \$12.00 = \$612.00	
Added By ABT Chicagoland \$0.00	
Total Prize Fund \$612.00	
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER	PRIZE
1 560 Ron Harast \$230.00 6 503 Matt Barker	\$29.00
2 533 Laurie Patton \$115.00 7 500 Susan Schlink	\$28.00
3 514 Tom Variola \$69.00 8 495 John Scaletta	\$27.00
T4 504 Jim Peach \$31.50 9 491 Dave Palojarvi Jr	\$26.00
T4 504 Laurie Patton \$31.50 10 489 Susan Schlink	\$25.00
SCRATCH	
9 Entries @ \$12.00 = \$108.00	
Added By ABT Chicagoland \$0.00	
Total Prize Fund \$108.00	PRIZE
·	\$36.00
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER \$72.00 2 657 Dave Palojarvi Jr	
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER	
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER 1 686 Jim Peach \$72.00 2 657 Dave Palojarvi Jr SENIORS 19 Entries @ \$12.00 = \$228.00	
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER 1 686 Jim Peach \$72.00 2 657 Dave Palojarvi Jr SENIORS 19 Entries @ \$12.00 = \$228.00 Added By ABT Chicagoland \$0.00	
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER 1 686 Jim Peach \$72.00 2 657 Dave Palojarvi Jr SENIORS 19 Entries @ \$12.00 = \$228.00 Added By ABT Chicagoland \$0.00 \$0.00 Total Prize Fund \$228.00	PRIZE
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER 1 686 Jim Peach \$72.00 2 657 Dave Palojarvi Jr SENIORS 19 Entries @ \$12.00 = \$228.00 Added By ABT Chicagoland \$0.00 \$0.00 Total Prize Fund \$228.00 PLACE SCORE BOWLER	
PLACE SCORE BOWLER PRIZE PLACE SCORE BOWLER 1 686 Jim Peach \$72.00 2 657 Dave Palojarvi Jr SENIORS 19 Entries @ \$12.00 = \$228.00 Added By ABT Chicagoland \$0.00 \$0.00 Total Prize Fund \$228.00	PRIZE \$35.00 \$25.00